Advantages of Harvard Architecture

· Efficient Pipelining – Operand Fetch and Instruction Fetch can be overlapped.

· Separate Buses for data and instructions.

· Tailored towards an FPGA implementation.

Disadvantages of Harvard Architecture

· Not widely used.

· More difficult to implement.

· More pins.

Advantages of RISC architecture

· Complex instructions slow down processing.

· Simpler instructions executed at higher speeds.

· 20% of instructions do 80% of work.

· Optimise the 20 most frequently used instructions.

· Other instructions realised by combining basic ones.

Disadvantages of RISC architecture

· Harder to program.

Design Decisions

· 32-bit.

· Stack & Heap.

· Instruction Set.

· Processor IOs (programmed).

· Number of registers (16).

· Memory sizes and management.

· Point-to-point, Tri-state buffer, or single bus register communications?

